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.Many people choose online shopping because of its convenience
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.Owing to the rapid development of technology, many traditional jobs have disappeared e
ey 393U Giiuw glodds jl gl «5j919iS5 gy asawgi Jud> 4y

.The flight was canceled owing to bad weather conditions
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.Thanks to modern medicine, people live much longer than before e
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.The company succeeded thanks to its innovative marketing strategy
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.As a result of climate change, extreme weather events are becoming more frequent e
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.As a result of globalization, people have greater access to international products
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.Many students struggle with writing tasks due to the fact that they have limited vocabulary e
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.Air pollution is getting worse due to the fact that more people are using private cars
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.On account of the high cost of living, many young people cannot afford to buy a house
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.The event was postponed on account of the rain *
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.By virtue of his hard work, he was promoted to a managerial position
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.By virtue of modern technology, communication has become much easier *
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.The city is cleaner thanks to the new recycling system .6
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.As a result of urbanization, many forests have been destroyed .7
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.As a result of globalization, people are exposed to different cultures .8
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.Many students fail IELTS due to the fact that they do not practice speaking enough .9
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.Obesity is increasing due to the fact that fast food is widely available .10
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.On account of air pollution, many people prefer to live in rural areas .11
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.The concert was canceled on account of the heavy rain .12
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.By virtue of his strong academic background, he was accepted into a top university .13

Al Ay yip oGl Sy s (liged ele dinuig Jud @

.By virtue of technology, communication across countries has become instant .14
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.Owing largely to poor time management, many candidates struggle in IELTS writing .15
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.Owing largely to climate change, sea levels are rising .16
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.Many social problems are stemming from inequality in education .17
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.Stress among employees is often stemming from excessive workload .18
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.Several health issues are arising from poor dietary habits .19
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